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Note: You can write your answers in Chinese or English.
L f(4,8,C)=(4'+B\B'+C'Y4+B+C). Implement f(4,8,C) using only NOR gates.
(20%)

2. A cache has a total of 32 k (21 ) bytes and a block size of 64 bytes. The size of the main

memory is 1 M (2%%) bytes. Assume that the cache is divided into 2 sets. (a) What is the

value for i so that we can have a fully-associative mapping scheme. (b) When /=4,
what is the smallest number of bits needed for CPU to check whether the data are in {he
cache. (20%)
3. Briefly describe the foltowing /O operations: () Programmed I/O. (b) Interrupt driven 1/O.
(c) Direct memory access (DMA). (15%)

4. Describe the principle of pipeline scheme with a time chart to show the execution. (15%)
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